
��������	
��
�������� �����������	���
�	��


�
��

���������	�
���������	��

����������	������
��������

����
�����	���������
����������������	

���������	��������	���� ������	�u, v, w,......
� � �

�������
����������	�������������	����������
����������� ��������	�

���� ��

���������������������!	����	������	���

⊕
u v, x w ........⊕ ⊕
� � � �



��������	
��
�������� �����������	���
�	��


�
��

���������

�������
������ ��	�������������	����������

����������� ��������	�

���� ��

���������������������!	����	������	���

⊕
u v, x w ........⊕ ⊕
� � � �

"��#	��������	�������������	���������������
����������� ��	���������"����� ��������	�

���� ��$�������%&'(

���������������������!	���������

��	������	��� ���������	������	�������
��������"����

���� �)&
��	������	���

v V∈
�

�

� v
�

� v
�

5 ...... ..v ..�
�



��������	
��
�������� �����������	���
�	��


�
��


������������������������	��

���!	����	�����������

��������������������������������	����� 

V( ; )⊕ � �

*����������	������+&�������(V, )⊕
,������ ��

�������	�����
�����	��������	

���������	��%-���.��	��(

������������.�����
�����	��������	

���������	�%�����.��	��(

0
�

v
�

v−
�



��������	
��
�������� �����������	���
�	��


�
��

������	�������������	�������

���!	����	������ �����

��������������������������������	����� 

V( ; )⊕ � �

*����������	������+&�������(V, )⊕
'��/�������)&
��	������	�������	������������


���������	�� 

'�'��( ) v ( v)λ µ λ µ=
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� � � � � �

HB =
����

GE =
����

( b) ( a) a b (a b)− + − = − − = − +
� � � � � �

��������������	��������������������)�������	�

�������	�������������� 

HB
����

a,b,c
� � � GE

����
)�	���*���������������

+

a
�

c
�

b
�

(

,�




�

-

.



��������	
��
�������� �����������	���
�	��


�
��


�/����
�����������������������0�����������

1	��������
�������������������	��

HE, GE , HB
���� ���� ����

a,b,c
� � �

( c) b b ( c) b c− + = + − = −
� � � � � �

GF FE+ =
���� ����

b c ( a) a b c− + − = − + −
� � � � � �

+

a
�

c
�

b
�

(

,�




�

-

.
HE =
����

GF =
����

GE =
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HB =
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HG GF FB+ + =
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a (b c) (a b)+ − + − =
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2 a ( c) 2 a c⋅ + − = ⋅ −
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a,b,c
� � � AM
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CB =
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a b−
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1
b CB

2
+
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1
b (a b)

2
= + −
� � �

1 1
a b
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